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Simulation

Fugter: WE Mow 11 23 offen.dbb

[Imfang: 23
Farbrapport; 351 Perlen
Fadelizte

B : W3 : W3 2
2 @0 2z M5 2 W
R 2 2
2

K B :
H: : W3 : W9
H: 3 W3 : W3 3
2 W3 : W5 3 W20
R : W : W3 3
2 W : Wz 2
" Rk 2
2

[ R
H: - AR
H: : 2
H: =
2

K
ms 2
2 W3
H: =
2 W&
ms =2
2 W3
B :
2 Wl
mi: 2
2 Wz
s =
2 W7
m: 2
2 W3
H: =
1 W3
H: =
2 H:
m: =2
2 W&
H: =
1 W3
H: =
2 W3
B 2 N3
2 @3
H: : H:
3 @5 2
H: :2 NG

Auzwertung
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Die erste Reihe habe
ich mit 23 Perlen lila
gefadelt, der Rapport
wiederholt sich dann
immer von Reihe 2 bis
Reihe 37




